D1vISION WITH A REMAINDER II (H - SET 4)
DIVISION WITH -10 TO 10

Name:

Time:

Score:

1) 4187 + 4 =

152) 73964 = (—9) =
5 11157 + (=2) =
5 78264 = (—9) =
15 —2001 + (—5) =
50) 46643 + 5 =

157 —13325 + 4 =

59 6302 + (—3) =
w9 —41315 + (=5) =
w0 —40145 + 5 =

61 28469 + (—4) =
162) —44 =5 =

163 —42251 + (—10) =
61 6664 + 3 =

165) — 17761 = 2 =

Mathematics: Division - Level 8 - Horizontal - Set 4
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33559 = (—7) =
3695 + (—5) =
—3495 = (—4) =

72832 = (—9) =

44484 + 6 =
8123 + (—2) =
17447 + (—4) =

—36635 = 4 =
23322 = 10 =
3469 + (—5) =
821 = (—1) =
—58397 = (—7) =
—1314 =1 =
6411 =+ 1 =

—4391 = (—10) =
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